8 KEYS

Ref 20 dBm Atten 5 dB

20log(Duty cycle) = 20log 130_‘2)= -9dB

Mkr1 A 100 ms
0.578 dB

Peak
Log

10
dB/

Y]

w1 52
53 FS

Center 433.3 MHz
Res BW 100 kHz

#WBW 300 kHz

Span 0 Hz
Sweep 500 ms (501 pts)

Ref -20 dBm Atten 5 dB

Mkr1 & 35 ms
-40.62 dB

Paak
Log

10
dB/

 Marker A

35.0000Q000

ms

-40.62 dB

w1 52
53 FS

L]

Center 433.3 MHz
Res BW 100 kHz

H#WBW 300 kHz

Span 0 Hz
Sweep 500 ms (501 pts)




20log(Duty cycle) = 20log %z -9.24dB

MKA 100.0 ns
A_View Smpl B_Blank Hormn -0.02 dB

TA MKR
.8 ms

CEHNTER 433.280000 MHz SPAH 0.000 kHz
#*RBYW 100 kHz #YBW 300 kHz #5WP 500 ms  ATIT 20dB

HKA 34.50 ns
f_View Smpl B_Blank Hormn -33.61 4B

TA MKR
580 ms

CEHNTER 433 .280000 HHz SPAH 0.000 kHz
#RBYW 100 kHz #VBW 300 kHz #353WP 500 ms  ATIT 20dB




345_
100

HKA 100.0 ns
fA_View Smpl B_Blank Hormn 0.08 48

TA MKR
.0 ms

20log(Duty cycle) = 20log 9.24dB

I||I1

SPAH 0,000 kHz

MEA 34.50 ns
A_View smpl B_Blank Horm -28.16 4B

TA MKR
580 ms

'|'||'| I||I1

CEHNTER 433.280000 MH=z SPAH 0,000 kHz
#REYW 100 kHz #VBW 300 kHz #5WP 500 ns AT 20dB




12 Keys

20log(Duty cycle) = 20log %: -9dB

Mkrl & 100 ms

Ref 20 dBm Atten 5 dB -0.032 dB
Feak
Log
10
dB/
1k 1
- -
er A
100J0000000 ms
-0.082 dBs
W1 S2
53 FS
AR
Center 433.3 MHz Span 0 Hz
Res BW 100 kHz #YBW 300 kHz Sweep 500 ms 01 pts)
Mkrl & 35 ms
Ref 20 dBm Atten 5 dB -36.01 dB
Peak
Log
10
dB/
15k
*
er A
35.00000000 ms
-36.01 dBB
W1 S2 o
53 FS
AR
Center 433.3 MHz Span 0 Hz

Res BW 100 kH= #WBW 300 kHz Sweep 500 ms {301 pts)



20log(Duty cycle) = 20log %— -9.2dB

HKA 99.50 ns
f_View Smpl B_Blank Hormn 0.58 48

TA MKR
580 ms

|

CEMTER 433. 230000 HHz SPAN 0 000 kHz

HKA 99.50 ns
f_View Smpl B_Blank Hormn 0.58 48

TA MKR
580 ms

b

CEHTER 433 . 230000 HHz SPAH U 000 kHz




345_
99.5

HKA 99.50 ns
A_View Smpl B_Blank Hormn 0.38 48

20log(Duty cycle) = 20log 9.2dB

TA MKR
50 ms

i

CENTER 433.280000 MHz SPAH 0,000 kHz
*RBYW 100 kHz *YBW 300 kHz *5WP 500 ms  ATIT 20dB

HKA 99.50 ns
f_View Smpl B_Blank Hormn 0.38 48

TA MKR
580 ms

CEHNTER 433.280000 MHz




20log(Duty cycle) = 20log 22 = .9.5dB

99.5

HKA 33.50 ms
fA_View Smpl B_Blank Horn -33.03 4B

TA MKR
50 ms

CENTER 433.280000 HHz SPAN 0.000 kHz
#RBYW 100 kHz #UBW 300 kHz #5WP 500 ms  ATT 20dB

HKA 33.50 ms
A_View Smpl B_Blank Horm -33.03 4B

TA MKR
50 ms

CEHNTER 433 .2Z80000 MHz SPAH 0,000 kHz
#*RBYW 100 kHz #VBW 300 kHz *5WP 500 ms  ATIT 20dB




